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Ethernet 
 
10BASE5, or Thicknet, used a thick coaxial that allowed for cabling distances of up to 500 meters before 
the signal required a repeater. 10BASE2, or Thinnet, used a thin coaxial cable that was smaller in 
diameter and more flexible than Thicknet and allowed for cabling distances of 185 meters. 
 
In 10BASE-T networks, typically the central point of the network segment was a hub. This created a 
shared media. Because the media is shared, only one station could successfully transmit at a time. This 
type of connection is described as a half-duplex communication. 
 
100BASE-TX Ethernet. Switches can control the flow of data by isolating each port and sending a frame 
only to its proper destination, full-duplex communications 
 
Ethernet 10Base-T     asynchronous , Manchester-encoding 
Fast Ethernet 100Base-TX, FX, CX   synchronous, 4B/5B encoding 
Gigabit Ethernet 1000Base-TX    synchronous, four pairs, 4D-PAM5 
Gigabit Ethernet 1000Base-SX,  LX   synchronous, fiber, 8B/10B 
10 Gigabit Ethernet  10GBase-ZR 
 

 
 



 
 
Broadcast MAC address is FF-FF-FF-FF-FF-FF 
 
The multicast MAC address is a special value that begins with 01-00-5E in hexadecimal. The value ends 
by converting the lower 23 bits of the IP multicast group address into the remaining 6 hexadecimal 
characters of the Ethernet address. The remaining bit in the MAC address is always a "0". 
 
And at 1000 Mbps, it only takes 1 nS to transmit a bit. As a rough estimate, 20.3 centimeters (8 inches) 
per nanosecond is often used for calculating the propagation delay on a UTP cable. 
 



 
 

 
 
Jam Signal 
32-bit "jam" signal is simply a repeating 1, 0, 1, 0 pattern, the same as the Preamble. 
 


